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1. Find (B u C)'
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() {17,14,10,5,13,7} (ii) {17,14,10,5,13} (iii)) {17,14,10,5,7} (iv) {14,10,5,13,3} (v) {17,14,10,5}

2. Find (Cu A)'

(i) {-7,-8,12,2,8,-2,-1} (ii) {-8,12,2,-5,8,-2,-9} (iii) {-7,-8,12,2,-5,8,-2} (iv) {-7,-8,12,-5,8,-2}
(v) {-7,-8,12,2,-5,8,-2,-1}



3. Find (AuBuC(C)
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(i) {-3,13,14,-9,8,2} (ii) {-3,13,14,-9,12,8,2} (iii) {13,14,-9,12,8,2,3} (iv) {-3,13,14,-9,12,8,2,-7}
(v) {-3,13,14,12,8,2,-7}

4. Find (A n B)'

14
13

10

() {-1,5,2,-3,9,-8,4,7,3,14,6,8,-6,10,0,13,-2,1,11,12} (i) {-1,5,2,-3,9,-8,4,3,14,6,8,-6,10,0,13,-2,1,11}
(i) {5.2,-3,9,-8,4,7,3,14,6,8,-6,10,0,13,-2,1,11,-5} (iv) {-1,5,-3,9,-8,4,7,3,14,6,8,-6,10,0,13,-2,1,11,12}
(v) {-1,5,2,-3,9,-8,4,7,3,14,6,8,-6,10,0,13,-2,1,11}



5. Find (B n C)'

11

() {-5-1,1,11,10,-9,-8,-6,13,7,9,5,2,12,-2,6,-4} (i) {-5,-1,1,11,10,-9,-8,-6,13,9,5,2,12,-2,6,-4}
(iii) {-5,-1,1,11,10,-9,-8,-6,13,7,9,5,2,12,-2,6} (iv) {-5,-1,1,10,-9,-8,-6,13,7,9,5,2,12,-2,6}
(v) {-1,1,11,10,-9,-8,-6,13,7,9,5,2,12,-2,6,8}

6. Find (C n A)'
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(i) {6,5,09,-6,-9,-2,-8,-5,2,-4,11,-7,1,-3,-1} (ii) {6,5,0,9,-6,-9,-2,-8,2,-4,11,-7,1,-3,-1,4}
(ii) {6,5,0,9,-6,-9,-2,-8,-5,2,-4,11,-7,1,-3,-1,4} (iv) {6,0,9,-6,-9,-2,-8,-5,2,-4,11,-7,1,-3,-1,8}
(v) {6,5,0,9,-6,-9,-2,-8,-5,2,-4,11,-7,-3,-1}



7. Find (An B n C)'

(i) {8,0,5-2,12,-3,-5,1,6,3,-8,-4,4,10,9,14,-7,7,-1} (ii) {8,0,5,-2,12,-3,-5,1,6,3,-8,-4,4,-6,10,9,14,-7,7,-1}
(i) {} (v) {8,0,5,-2,12,-3,-5,1,6,3,-8,-4,4,-6,10,9,-7,7,-1} (v) {0,5,-2,12,-3,-5,1,6,3,-8,-4,4,-6,10,9,14,-7,7,-1}

8. Find (A — (A n (B nQ)))
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() {-8,5,4,13,-4,8,10,9,12,-9,-2,2,-7,0,-5} (ii) {-8,5,4,-4,8,-1,10,9,12,-9,-2,2,-7,0,-5,11}
(ii) {-8,5,4,13,-4,8,-1,10,9,12,-9,-2,2,-7,0,-5,11} (iv) {-8,5,4,13,-4,8,-1,10,9,12,-9,-2,2,-7,0,6}
(v) {-8,54,13,-4,8,-1,10,9,12,-9,-2,2,-7,0,-5}



9. Find (B —(An (Bn Q)
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(i) {-5,16,0,-6,2,9,-4,1,10,-2,6} (ii) {-5,16,13,0,-6,2,9,-4,1,-2,6,7} (iii) {16,13,0,-6,2,9,-4,1,10,-2,6,-9}
(iv) {-5,16,13,0,-6,2,9,-4,1,10,-2,6,-9} (v) {-5,16,13,0,-6,2,9,-4,1,10,-2,6}

10. Find (C—= (A n (B n (Q)))

12 U

(i {9,-9,-6,13,8,-5,5,12,-7,16,14,-3,6,3,10} (ii) {9,-9,-6,13,8,-5,5,-7,16,14,-3,6,3,-4}
(iii) {9,-9,-6,13,8,5,12,-7,16,14,-3,6,3} (iv) {9,-9,-6,13,8,5,12,-7,16,14,-3,6,3,10}
(v) {9,-9,-6,13,8,-5,5,12,-7,16,14,-3,6,3}
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f p = {2164,7,9,-11,12,3,9,-4,10,17,15,-8,8,13,-7,-6,3,5,14,-5},A = {-2,16,4,7,9,-1,1,12},
{-3,-9,-1,-4,9,10,4,17}, C = {15,-8,-4,7,8,16,4,13,12,-3}, find A’

() {17,-7,-8,13,-4,-3,15,8,10,5,-6,14,-5,3,-9,-1}

(iii) {17,-7,13,-4,-3,15,8,10,5,-6,14,-5,3,-9,

-1}

(V) {171_71_81131_4,'3715,8,10,5,'6,14,‘5,3,-9}

f w = {4,3,155,28,1013,-1,1,-2,-6,11,0,-3,6,-7,-5,12,9} ,A

(iy {17,-7,13,-4,-3,15,8,10,5,-6,14,-5,3,-9}
(iv) {17,-8,13,-4,-3,15,8,10,5,-6,14,-5,3,-9}

{-4,3,15,5,2,8,10,13,-1},

{1,-2,8,-1,5,-6,11,0,-3}, C = {-4,10,6,-1,3,-7}, find B'
() {-5,9,6,-4,12,10,15,2,3,13,-7,0} (ii) {-5,9,6,-4,12,15,2,3,13,-7} (iii)) {-5,9,6,-4,12,10,15,2,3,13}

(iv) {-5,9,6,-4,12,10,15,2,3,13,-7} (v) {-5,9,6,-4,12,10,15,2,3,13,0}

If p = {-3,8,0,7,-2,-6,-8,16,6,12,-4,14,-9,2,13,10,-7,-5,-1,5,3},A = {-3,8,0,7,-2,-6,-8,16,6},
{12,-3,-6,8,-4,14,-9,0,7}, C = {7,6,2,8,-8,13,-4}, find C'

(i) {-9,-1,-7,-2,16,0,12,14,-3,-6,-5,10,3,5} (ii) {-9,-1,-7,-2,0,12,14,-3,-6,-5,10,3,5}

(iii) {-9,-1,-7,-2,16,0,12,14,-3,-6,-5,10,3,5,8} (i

(v) {-9,-1,-7,-2,0,12,14,-3,-6,-5,10,3,5,8}

v) {-1,-7,-2,16,0,12,14,-3,-6,-5,10,3,5}

If u = {5-2,6,-4,-1,7,3,2109,-98,6,1,-80,11,4}A = {-5-2,-6-4,-1,7}, B = {-4,3,2,7,10,9},

{-6,-9,8,-4,-5,10,2,3}, find (A u B)’

(i) {41_81_9111816111101_6} (ii) {41_81_9181611110} (iii) {41_81_911181611110} (iv) {41_81_91816111r01_6}

(v) {4,-8,-9,1,6,11,0}

If u = {14-812,13,1,2,-2,15,3,-7,-6,16,11,-9,9,5,-3,-5,8,4,0,-1,-4},A = {14,-8,12,13,1,2,-2},
{15,-2,1,3,-7,-6,12,-8,13,16}, C = {11,2,-9,15,9,5,-3,1}, find (B u C)'

(i) {0,4,8,-4,14,-5} (ii) {0,4,8,-1,-4,14,-5,11}

(v) {0,8,-1,-4,14,-5,11}

(iii) {014181_11_4114:_5} (iV) {0,8,'1,'4,14,-5}

f w = {212,-511,6,-2,10,-9,6,-3,7,-8,15,16,14,1,5,9,0,13,8,-1,-7},A = {2,12,-5,11,-6,-2,10,-9,6},
{-3,7,10,-8,15,16,14,1,11,6}, C = {7,5,1,2,9,0}, find (C u A)’

(i) {14,-1,15,16,-7,-3,8,-8,12} (ii) {14,-1,15,16,-7,-3,8,-8} (iii) {14,-1,15,13,16,-7,-3,8,-8}

(iv) {14,-1,15,13,16,-7,-3,8,-8,12} (v) {14,-1,15,13,16,-7,8,-8}

If u = {7,-1,4,-4,3,10,16,-6,12,17,8,15,6,1,-9,-2,-5,5,-8,0,-7,11,14,2} A = {7,-1,4,-4,3,10,16,-6,12,17}, B

{8,3,15,6,-4,17,1,-9,4,-2}, C = {-5,4,6,7,17,5}, find (Au B u C)'
(i) {0,11,2,14,-8,15} (ii) {0,11,-7,2,14,-8,15}

(v) {0,11,-7,2,14,-8}

(iii) {0,11,2,14,-8} (iv) {0,11,2,14,-8,-6}

f u = {217,81,6,0,11,13,-3,7,2,5,12,14,8,4,-9,3,-5,-4}, A =  {-2,17,-8,1,-6,0,11,13,-3},
{7,2,-6,5,12,11,-2,14,17,1}, C = {13,14,8,0,11,4,-2}, find (A n B)'

(i) {-8,8,2,3,-3,-9,14,-4,4,13,5,-5,0,12}

(i) {-8,8,2,3,-3,-9,14,-4,4,7,13,5,-5,0,12}
(iii) {-8,8,2,3,-3,-9,14,-4,4,13,5,-5,0,12,-2}
(V) {_81812r31_9r14,'4,4,7,13,5,‘5,0,12}

(iv)

{-8,8,2,3,-3,-9,14,-4,4,7,13,5,-5,0,12,-2}
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If u = {-6,9,-2,1,-8,-9,2,5,12,-4,-3,4,-7,6,3,8,0,-1,10},A = {-6,9,-2,1,-8,-9,2,5}, B = {-6,12,2,-4,5,-2}, C

{-9,9,-3,2,-2,4,1}, find (B n C)'

(i) {9,4,12,-3,1,-4,-9,6,5,10,-7,-1,3,8,-8,-6,0,2} (ii) {9,4,12,-3,1,-4,-9,6,5,10,-7,-1,3,8,-8,-6,0}
(i) {9.4,12,-3,1,-4,6,5,10,-7,-1,3,8,-8,-6,0} (iv) {9,4,12,-3,1,-4,-9,5,10,-7,-1,3,8,-8,-6,0}

(v) {9,4,12,-3,1,-4,-9,5,10,-7,-1,3,8,-8,-6,0,2}

If p = {4614,16,11,7,812,1,-3,15,3,13,10,-1,-8,5,2,-9,9},A = {-4,6,14,16,11,-7,8,12,1,-3},
{15,3,12,14,13,-7}, C = {10,-4,-1,6,1,3,16,-8,5}, find (C n A)’

(i) {10,-8,13,3,12,8,-7,9,-9,14,2,5,-3,-1,11,15,16} (ii) {10,13,3,12,8,-7,9,-9,14,2,5,-3,-1,11,15,16}
(i) {10,-8,13,3,12,8,-7,9,-9,14,2,5,-3,-1,11,15} (iv) {10,-8,13,3,12,8,-7,9,-9,14,2,5,-3,-1,15}
(v) {10,13,3,12,8,-7,9,-9,14,2,5,-3,-1,11,15}

f w = {-3-7,6,1,-811,10,13,0,-4,3,9,12,-5,15,8,4,-9,-1,14,5,-2,2,7} A = {-3,-7,6,1,-8,11,10},
{13,0,-8,-4,3,1,9,12,-5}, C = {15,11,-5,-3,-8,12,8,4,-9}, find (A n B n C)’

() {13,2,-5,3,11,10,14,-1,7,0,-7,9,15,8,-3,-9,-2,4,5,6,1,-4}

(i) {13,2,-5,3,11,10,14,12,-1,7,0,-7,9,15,8,-3,-9,-2,4,6,1,-4}

(ii) {13,2,-5,3,11,10,14,12,-1,7,0,-7,9,15,8,-3,-9,-2,4,5,6,1,-4}
(iv) {13,2,-5,3,11,10,14,12,-1,7,0,-7,9,15,8,-3,-9,-2,4,5,6,1,-4,-8}

(v) {13,2,-5,3,11,10,14,12,-1,7,0,-7,9,15,8,-3,-9,-2,4,6,1,-4,-8}

f p = {56,-7,10,3,11,15,-2,-6,17,9,-9,12,-4,8,7,16,-3,2,4,14,0,-1},A = {-5,6,-7,10,3,11,15,-2},

{-7,-6,11,6,-5,17,3,9,-9,12}, C = {-2,10,-5,-4,8,9,-7,7}, find (A — (A n (B n C)))’
(i) {7,-7,-6,4,9,17,-9,-3,-5,-1,12,2,0,-4,14,8,16,6} (i) {-7,-6,4,9,17,-9,-3,-5,-1,12,2,0,-4,14,8,16}
(iii) {-7,-6,4,9,17,-9,-3,-5,-1,12,2,0,-4,14,8,16,6} (iv) {7,-7,-6,4,9,17,-9,-3,-5,-1,12,2,0,-4,14,8,16}

(v) {7,-7,-6,4,9,17,-9,-3,-5,-1,12,2,0,14,8,16}

If u = {81,156,.-5100,2,.-6,-7,7,13,5-9,9,-8,-3,4,11,3,-1,12,2},A = {8,1,15,6,-5,10,0,-2},
{-6,1,-7,10,7,13,5,-9,15}, C = {7,-2,9,6,8,-8,-3}, find (B — (A n (B n C)))’

(i) {-1,5,12,-3,-2,9,4,8,0,11,-8,3,6,-6} (ii) {-1,-5,12,-3,-2,9,4,8,0,11,-8,3,6}
(i) {-1,-5,-3,-2,2,9,4,8,0,11,-8,3,6} (iv) {-1,-5,12,-3,-2,2,9,4,8,0,11,-8,3,6,-6}
(v) {-1,-5,12,-3,-2,2,9,4,8,0,11,-8,3,6}

if p = {9,-1,14,1,6,16,2,-4,12,-7,4,5,-2,0,3,-6,13,10,-8,11,-3,8,-5},A = {9,-1,14,1,6,16,2,-4},
{12,-7,4,5,-2,0,-1,3,1,-4}, C = {-6,13,6,5,14,10,4}, find (C — (A n (B n C)))’

(i) {3,-8,11,0,2,-7,12,-3,16,-4,1,-1,-2,9,8,-5} (ii) {3,-8,11,0,2,-7,12,-3,16,-4,1,-1,-2,9,8,-5,10}
(i) {3,-8,11,0,-7,12,-3,16,-4,1,-1,-2,9,8,-5} (iv) {3,-8,11,0,2,12,-3,16,-4,1,-1,-2,9,8,-5,10}
(v) {3,-8,11,0,2,12,-3,16,-4,1,-1,-2,9,8,-5}



25. Find A

|
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(i {12,-2,11,-7,7,2,-3,-8,10,-5,5,-6} (i) {12,-2,11,-7,7,2,-3,-8,13,10,-5,5}
(i) {12,-2,11,-7,7,2,-3,-8,13,10,-5,5,3} (iv) {12,-2,11,-7,7,2,-3,-8,13,-5,5}

(v) {12,-2,-7,7,2,-3,-8,13,10,-5,5,3}

26. Find B'
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(i) {12,2,1,-2,-3,-6,5,-8,-1,3,6,-9} (ii) {12,2,1,-3,-6,5,-8,-1,3,6,-9} (iii)) {12,2,1,-2,-3,-6,5,-8,-1,6}
(iv) {2,1,-2,-3,-6,5,-8,-1,3,6,0} (v) {12,2,1,-2,-3,-6,5,-8,-1,3,6}



27. Find C'
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(i) {11,4,-7,2,6,-2,0,1,-3,7,-4,-1,5,10,-9}
(iii)
(v)

{11,4,-7,6,-2,0,1,-3,7,-4,-1,5,10} (iv)

{11,4,-7,2,6,-2,0,1,-3,7,-4,-1,5,10}

28. Find (A u B)'

(if)

{11,4,-7,2,6,-2,0,-3,7,-4,-1,5,10,-9}

{11,4,-7,2,6,-2,0,1,-3,7,-4,-1,10,-6}

-3

15

(i)
(iv)

{3,-8,-1,15,6,-9,-7,8,-2,2,-3}
{3,-8,-1,6,-9,-7,8,-2,2,-3,1}

(i)
(v)

{3,-8,-1,15,6,-9,-7,8,-2,2,-3,7}
{3,-8,-1,15,6,-9,-7,-2,2,-3,7}

(iii)

{3,-1,15,6,-9,-7,8,-2,2,-3}



Assignment Key

1) (ii) 2) (iii) 3) (ii) 4) (v) 5) (iii) 6) (i)
7) (ii) 8) (v) 9) (v) 10) (v) 11) (v) 12) (iv)
13) (i) 14) (iii) 15) (iii) 16) (iii) 17) (v) 18) (i)
19) (ii) 20) (iii) 21) (iii) 22) (iv) 23) (v) 24) (i)
25) (ii) 26) (v) 27) (v) 28) (i)
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